
Matrices to Simplify Regression Notation 

 

SLR: 

 

 

 

 

 Matrix Basics: 

o Matrix & Transpose:  Ar x c=(aij)     A' = (aji) 

     
o Addition: Ar x c + Br x c = Cr x c 

 
o Multiplication:  Am x n   B n x p        =   Cm x p    (for conformable matrices) 

  
 

o Identity: A I = A  and  I A = A   

  
o Inverse:   

  

A       A
-1

           =       I              A
-1            

A           =       I 
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 Least Squares Estimates: 0 1
ˆ ˆ ˆ( , )     chosen to minimize SSE 

o 
2 2 2

1 2
ˆ
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o Geometry of LSEs: 
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